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SECTION - A

Analytical Ability

SaAaE Jgsd
Questions : 75 Marks : 75
BHe 75 Sy en : 75
(i) Data Sufficiency (Marks : 20)
&gro%d Dorgnd (B en : 20)

Note : In questions numbered 1 to 20, a question is followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the

statements are sufficient to answer the questions. Using the data make an

appropriate choice from (1) to (4) as per the following guidelines :

(a)
(b)
(c)

(d)

Mark choice (1) if the statement I alone is sufficient to answer the question.
Mark choice (2) if the statement II alone is sufficient to answer the question.

Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone is sufficient.

Mark choice (4) if both the statements I and 11 together are not sufficient to
answer the question and additional data is required.

L% 3 1 %008 20 $8% ad RS PHSW a¥ [@9F), &9 Bod I 1T & Hew
e Both ([Wataren Segrodom aésa;cg'on. 30 SgroTQ) GAATNOD,
230 PhSTe PHS Vireed) ad)odd dogder eyerd S
@d DB Jgroowd. & dgded (§od BrEEE)E rierey GHANoY
(1) 908 (4) HE% 28 DD 23720 o¥ Sahod.

(a)

(b)

()

(d)

D% DareRo 3W)odB [DHER0 | Lr (8D Dorghond D WwI*AD
(1) o~ thBowok.

D)% Dargrdo ad)odS Roeo I G 8D Dorghand D 2T
(2) e 190 0W0G.

BHH Vargro 3B od® Pdderes 1, 11 ged HoPgHoD ©okHS*
D 24,8 &ra Hogho STERE 2 ware (3) me H9oW0s.

2% VarETo0 aﬁao(ﬁ)é (Paderes 1, 11 ged S ‘é.)o*gégo s°¥
w5l Baroto eBOSHoNE d wamed (4) T (hhoHod.
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1.

With how many zeroes does the number a =16 ! end ?
a=16! o380 WS55 ), T & SwiHpod 2
L. 5t]a 5% a

II.  ais an even number.
a 2,8 10 }’uosps

Is the quadrilateral ABCD a rectangle ?
B&d)zo ABCD 2.8 &Y $5&3S0&r 2

L. AB=CD, AD =BC

- II.  AC=BD

If P, A, B are three points on a circle, what is ZAPB ?
Qe HochiYes P, A, B e 2.8 $)80 08 LAPB dod

| AB is the diameter of the circle.
AB @38 )& ag0.

II.  The sum of the angles of A APB is 180°
A APB &% §mre &0 180°

[s the number n divisible by 2 ?
Vowg n, 2 T AR o rAodechdose ?

I The sum of the digits is divisible by 2.
08w do 2 T 2rAodehd.

1. The digit in the units place is divisible by 2.

2,88 g":soé”“@}sl ©08 2 T rhodrchd.

Are the roots of av’ + bx + ¢ =0 (a # 0) real ?
ar’+by+c=0(az0) AT WreEed FUID Wrr S 2

L. 4a+b=0
I1. c=15a

What is the area of the rectangle ABCD ?
BEB&HBR0 ABCD Sregdod 2

J: E is the midpoint of AB.
AB Dgg Hohy E.

I.  Areaofthe A CDE is 50 cm-.

A CDE 37230 50 0.5

RAEO:




10.

11.

12.

13.
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What are the numbers a and b ?
Vomgen a, b e A 2
I a and b are relatively prime.
a,b e JY (DegrarosTen.

II. L.C.Mofa,bis?2550.
abe E30 25507

What is the rate of simple interest on a loan of 20,000 ?
8. 20,000 ey D8 5§ Tew Jod 2

L. < 23,000 is to be paid at the end of the first year.
A VoS YTro Sk BO0TOYIE . 23,000.

IIl.  There is a penal interest of 10% if the loan is not paid at the end of the first year.
S DoDSyoroSEwd Y BO0BIT 10% edio=es DG G0wod.

Suppose f(x) is a polynomial. Is x — 1 a factor of f (x*+7) ?
flx) 2.8 25000 W& 0. fF(x1+7) Hx — 1 2% soBerroLhy
L (x =7 | f(x)

L (x - 11)|fix =3)

What is the value of xy ?

Xy W o 2
I x =9
I. y=0

Are the triangles AABE and ACDE given below congruent ?
(BoSAabadd (Baderes AABE, ACDE o DLV Oh 2

"I AB||CD

II. ZAEB= ZCED

If 0¢ {x, y}, then what is the value of x + y?
0¢ {x, y} ®add)®d ¥+ y Jewd Do 2

L X#Ey

L x*+y=y*+x

Is 525 x k a perfect square ?

525 X k 2,8 ogyrg D 2
L 21k
1. k=21
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14.

185,

16.

17.

18.

19.

20.

If n(A) denotes the number of elements in the set A, then what is n (AUB) ?

VDB A S5 e ste ;()oapglﬁa n(A) & WD, N(AUB) oo 2
L. n(A) =35
. n@B)=28

What is the value of the integern >0 ?
argro¥on0 ADE) Desd o 2

I} 25" is odd.
25" 2,8 B Dowg
11 30" is odd.

30" 2. 22 Doy

For the integers a, b and ¢ with a = bc,isa>b ?
a=bc wabgerd) Yrovostes a, b, ¢ % 00200800 a> b edHoar 2

15 a] = [b|
II. ¢*=9

What is x,+ x,+ x,+ x,+ x,?

Nt X+ a0+ X+ x Jod 2

L x=20

. x,x, x, x,, x; are in arithmetic progression.
Xy Xps Xy, Xy, X5 0 008 @BGS® ST Q.

What is the average ofa — 3, b+4.c — 5 and 6 ?
a—3,b+4,¢c -5 6 DK doss 2
s a, b, c are positive integers.
a,b, ¢ e &9 Yrgrostew
I. a+b+c=100

Is — an integer ?
18

= af rgotir

L 6|n
I. 94n

Is A ABC scalene ?
A ABC Q0% 23°dm0a° 2

. AB=#BC
II. ZBAC=#£BCA

P.T.O.




A
(ii) Problem Solving
FOSVISI SETas)
(a) Sequence and Series
whgbre, @
Note : In each of the questions numbere
follow a definite pattern is given.
filled by the correct answer from t
without breaking the pattern.
W ‘L@’alu 21 Dod 30 BB e (@
l_é‘émtg@}’o 230‘5)‘@“2’&; BT .
21.. + 2,:26, 242,
(1) 546 (2) 956 (3)
2 2
22- ‘%. '8_1 :29 g)'~ £l E
3 27 8l 729
242 322
) =— 2 3
L 243 & 323 ©)
23. 3Z2A, 5X5C, 7V8E,
(1) 9S10G (2) 10T12G (3)
24. Z7A,Y6B, X5C, , U3E
(1) V3C (2) v4C (3)
25. a5, 313,10
(1) 44410 (@) 411 ()
26. UGX:AND: QLN:
(1) WRT (2) WST (3)
27 : HDGF :: FILM : ADGH .
(1) LIKM (2) MILK (3)
28. KEGV, JDFU. ICET,
(1) HBDC (2) HBDF (3)
29. DIVIDEND : CHUHCDMC :: KEYBOARD :
(1) JDXANZQC (2)
(3) JDXANZRC 4)
30. 13,28,49,76, , 148
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(Marks : 55)

($8p e0 1 55)

(Marks : 25)

(drdop o0 : 25)

d 21 to 30, a sequence of numbers or letters that
Each question has a blank space. This has to be
he four given optiens to complete the sequence

8 [ Siar ai)d Ropges M wiore MR 28
08 @HSR 2o RO TW VIS Fote)

40 eapd e JET SRS B oo SewiBome Yroowd.

(1) 89 2) 99

1266

542
543

10S12G

V4D

547

WRS

KLIM

HBDS

JDXNZAQC
JDXANZPC

(4)

4)

4)

4

(4)

4)

4)

“4)

4)

2186

72
723

9T11G

V5D

54411

VRT

IKLM

HBDU

119
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In questions numbered 31 to 35 pick the odd thing out :

0% : 31 D08 35 H8% Ke l‘_&)%loé‘s VOTEFLAD Do :

31. (1)
3)
32. (1)
)
33. (1)
3)
34. (1)
3)
35, (1)

3)

87

67

N +dx+4

X+ 2x+1

1993 AD

(8.%. 1993

1995 AD

18.5. 1995

Standard deviation

EDSubo

Range

°

(2)

(4)

(2)

4)

(4)

77

57

X = 2x+ 1

X+ 2x+2

1994 AD

18.5. 1994

1996 AD

(8.%. 1996

Variance

K8

Mode

EALPSNTE Yol

343

" PT.0.
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Note : Each of the questions from 36 to 45 follow a definite pattern. Observe the same and
fill in the blanks with suitable answers.

HE 1 36 o 45 HBD He pélc,o 28 PUYEDD APy FEPTY . & Qabardy
B0 oAb Virerare s rdub Proosos.

36. 4,7,12,19,28. 39, .67
(1) 47 (2) 49 (3) 52 (4) 55
ot 22, Pl
3 St 11
48 46 44 42
) = ) e S e g =2
(1) 5 (2) 9 (3) 5 (4) 5
38.  0001,0010.0011. 0100, .0110
(1) 0011 (2) 0101 (3) 0111 (4) 1010
aor giil e Lt
2° 6 31 39]
| | I 1
e A T 8 A 4y —
()36 ()37 ()38 ()39
40. (x+y), (' -y?), (x+ Y (x-y), 7=y, (x+y) (x—y)%,
() (x=y)(x+y) 2) ("=y)
B3) *-y) 4 -y)
., 5 1017 26 37
"9’ 28765126 217’
41 45 49 50
1 2 Q) - AR
() 344 (2) 344 ) 344 ) 344
4. {l.l.ﬂ‘{i;_yi}, IL,L, |
57779 111714717/ 119" 23 |
1 I 1 1
- N 2 | 3 _— = =
D = @) 26 ) > @ %
43. 9,36, 100, 225, . 784
(1) 365 (2) 441 (3) 498 (4) 526
44. WA4C, T9F, Ql6l,
(1) P25L (2) N25L (3) P27L (4) M25L

l 1 2 2
45. 11-,12—,14=,16—=,
9 7 3

(1) 18- 2) 19 A 3) 20 (4) 20

._.
W | W
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A
(b) Data Analysis (Marks : 10)
&&r0% e (3 e : 10)

A Mobile manufacturing company makes three models I, 11 and I1I of mobile phones. The
production (in thousands) during the years 2009 through 2013 is given below :

BoB. VoHEB0 2009 Wod 2013 HIH 6838 Bod’) (808A0DE0d.

P P SoirHTD &8 0B Dt Fresehy L 11, 11l B P Saeeh

46.

47.

48.

Year/
Qow&Eo | 5009 2010 2011 2012 2013
Model/&re e
I 17 22 26 29 32
I 22 20 24 28 30
N 25 27 30 32 35

Answer the questions from 46 to 48 using the table.
DY DHANOD (%) 46 o0& 48 HSH Ve Og08.

What is the percentage increase in the production of Model II mobiles in the year 2013
when compared to the year 2010 ?

2010 DondyBo& PO, 2013 VoS0 IrES 1l WP ¢EBS® WihibeSe
&0
(1) 10% ) 15% (3) 30% 4) 50%

If the cost of production of mobiles of I, Il and III models during the year 2011 are
respectively ¥ 2,250, ¥ 2,750 and % 5,250 per unit, then the total cost of production (in
crores of rupees) during that year is

2011 Don&ySod® I, 11, I ) 2.8% DS P Saprdd eade P& DL
8. 2,250, & 2,750 w0ab &r. 5.250 ety © Lodé Sod® Iwdo &&NB¥ab

&) (8% Sraradd®)
(1) 2.82 (2) 28.2 (3) 282 (4) 0.282

If the profits per unit of three models I, II and Il of mobiles during the year 2013 are
< 550, X 650 and ¥ 1,000 respectively, then the total profit (in lacs of rupees) during the
year 2013 is :
2013 DowdyomA8 R W 1L 11 11 Irie) wBS P 28% ohrdS orgren
D&M &, 550, Ge. 650 oA & 1,000 @ond 2013 VovS o’ o wrgo
(v§e Srarabs®) ‘

(1): 721 (2) 7210

3) 72.1 4 7.21

9 P.T.O.
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Note: The following Pie diagram illustrates the yearly expenditure of an educational

institution towards six heads : A-Staff salaries, B-Maintenance, C-Laboratories,
D-Learner activities, E-Examinations and F-Miscellaneous. Using the data given
answer the questions from 49 to 53.

A8 : 8 DHen A-)0d SSTeen, B-d8gdres, C- [Dabriiwrecs, D-e92Ig%0,

49.

50.

S1.

S2.

53.

E-H8%ew, F-adfve o md 28 dovg VoY AEy Fesdd &) (808
"2 (Pie) DBo J0od. aN» derodo werdorr D 49 wod 53 o
:’Qérqravé‘é»&

B
20%

a

The sectorial angle corresponding to A is
A 0200800 V5°H §%mo

(1) 105° (@) 120° B)wl26° (4) 145°

The total sectorial angle corresponding the heads C, D and E is
C,D0ah EDHeH Vowodod Iwdo 5t §wo

(1), 125° (2) 108° (3) 120° (4) 90°

[fin a year the expenditure under B is 30 lac more than the expenditure under E, then the
total expenditure (in lacs) for that year is

28 Vodd o’ B (808 edds 98, E (30 oddy P 9 30 v b
SR & Vops Eod® Bdo Py (v
(1) 200 (2) 185 (3) 175 ‘ (4) 150

If the annual expenditure is 200 lacs, then the expenditure towards F (in lacs) is
FresB Y 200 ©ETE WeH F gadg ) (vEedh
(1) 25 (2) 30 (3) 32 4) 35

In a year total expenditure incurred towards E is 20 lacs of rupees. Then the expenditure
towards D (in lacs) is

25° S8 Vond B0 E (308 20 efe Srarabes pd) ©ogod. e D (80 wi)
(©EoS?)
(1) 30 (2) 35 (3) 45 (4) 40

10
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A A%A B
R/

G
Note :  Using the data given in the above Venn diagram answer Q. 54 and Q. 55.

A : D IS DS Do S Sgromd) &N 54, 55 (%) o saraes H00S08.

54. The number of elements in AU (BNC) is
AU (BNC) & &resrte Dog

(1) 46 (2) 41 ) 32 4) 25

55. The number of elements in C — (AUB) =
C- (AUB) &9 &Qroste Logg =

(H 27 (2) 24 (3) 19 (4) 18
(¢) Coding and Decoding Problems (Marks : 10)
8'G0h, 48°G0R Hdgew (B e0 : 10)

The letters in the English alphabet are coded in the reverse order. For example, A is
codedas Z,Biscoded as Y,....

Following this code answer the questions from 56 to 60.

soff DWrUSD) efored ¥gBTE 83’ >ePE & Jabdo =0A08.

GrSnd AD 2%, BS Y, ... §& 328,
&3 §°6 HL000D 56 0B 60 HSK Ke (%o Varerardigod.

56. LIMIT is coded as
LIMIT % §°& ¢S50

(I) KNRNC (2) ORNRG (3) JKOKG (4) OSTSG

57. The code word of POCKET is
POCKET % §%°G& %50

(1) KLXPUC (2) KLXUPG (3) KLXVPG (4) KLXPVG
58. Which group of letters is coded as CODE ?

? vZore Vawredro CODE m §°6 Sabadod 2

(1) XLWU (2) XLWV (3) XLWT - (4) XLWR
59. Which group of letters is coded as HAPPY ?

2 sZore VAo HAPPY e §°6 Fobadhs 2

(1) SZKKD (2) SZKKC (3) SZKKB (4) - SZKKE

60. The code word for GROUP is
GROUP & §°& %50

(1) TILFR (2) TILFN (3) TILFM (4) TILFK
11 P.T.O.




61.

62.

63.

65.

(d)

66.

67.

 68.

69.
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If TEACHER is coded as SEABGEQ, then the code for STUDENT is
TEACHER % SEABGEQ i~ §'& I STUDENT % §°§

(I) RSVDFMR (2) RSUCEMR (3) RSUCEMS (4) RSVDFMS

If BOWLER is coded as CPXMFS, then BATSMAN is coded as
BOWLER % CPXMFS r §°G &3 BATSMAN 8 §°6

(I) CBVUNCO (2) CBVINBO (3) CBUTNBO (4) CBVTNCO -
If the code word for STATISTICS is UVCVKUVKEU, then the code word for

COMMERCE is
STATISTICS & §%& %50 UVCVKUVKEU @ond COMMERCE® && %o

(1) EQOOGTEG (2) EPOOHTFG (3) EROOHTEG (4) EQOOGTGE

If MOUSE is coded as LNTRD, then the code for COMPUTER is
MOUSE % LNTRD r~ §°& &3 COMPUTER % §°G

(1) BMNOTRDQ (2) BNLOTSDQ (3) BNMOTSDQ (4) BMMOTSQD

If TRIANGLE is coded as RPGYLEJC the code for RHOMBUS is
TRIANGLE % RPGYLEIC r §'& &3 RHOMBUS §°&

(I) PGMKZSQ (2) PFMKSZQ (3) PGNKZSQ (4) PFNKZSQ

Date, Time & Arrangement Problems (Marks : 10)
38, SHabo, wkdde Hdodgen (Bt 0 : 10)
If today is Sunday what day of the week will it be 63 days later ?

& 8% wdT80 vwd 63 Fare Sued d T80 ©YHB ?

(1) Sunday (2) Monday (3) Tuesday (4) Wednesday
(ITaY~lefe) a0 DoKFarso audardo

A clock is set at 10.00 a.m. If clock loses 3 minutes every two hours, what is the correct
time when the clock shows 4.00 p.m. on the same day ?

&8 HGArSoS® Vard) eedabo 10.00 HobeH HOTwH. ¢ KGarso HS Tok
fobedr 3 Jdwares vuvgom 8008, ol &'a « Haakrdo Jrabo(So 4.00 Hobes
WO WRRYE VO ®awn VawahHo o ?
(1) 4.03 p.m. (2) 4.06 p.m. (3) 4.09 p.m. (4) 4.12p.m.

o 14.03 o 14.06 o 14.09 o 14.12
The angle between the minutes hand and hours hand when the time shown in the clock is 6.20 pm is
HGobrE0S® Laho ' 6.20 SrRo RSP Mo werd Hobe e g 8o
(1y 55° (2) 60° (3) 65° (4) 70°
A big joint family has grandfather; father; mother; four sons and their wives; and two

daughters of each son. How many female members are there in the family ?
a8 S end Sevowod® e, TR, wa, Veihdh SodHes ¢ rdgen, (08

£ ©H gD Lrddh o). © HWo20S* BET0 Vowg Jod ?
(1) =13 2) 14 3) 15 (4) 16

12
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70.

71.

72.

73

74.

75,
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As per the time table the local train leaves the station at regular intervals of 45 minutes.
Reaching the station a person learnt that the train left 10 minutes ago and the next train is
at 10.15 a.m. What time did the person arrive at the station ?

3Tg B Bend (05780 S*ES BoS (08 45 ware® VAS Wod waheodHod. a¥

558 VAS DHED 2.8 ByS 10 Mware (38D 39osd SGHaS8 10.15 am. © &osd
BB E. © D8 VRS VIS D) ? '

(1) 9.25 am. (2) 9.30 am.
¢ 9.25 ¢ 9.30
(3) 9.35am. (4) 9.40 am.
¢ 9.35 &' 9.40

A car travels from A to B at a speed of 24 kmph and returns from B to A at a speed of
40 kmph. What is the average speed of the car for the whole journey (in kmph) ?
25 570 A'Q0& B % fow®d 24 3. o0& afrmo WD S5 Lo’ B od A

Hot® 40 8.2, ¥{0& HiY)od o RAPErR & SHWTXDHo o2 (ot 8D, e
(1) 36 (2) 34 3)" 32 (4) 30

In a Queue of 51, the positions of A and B are tenth and thirty fifth respectively. If C is in
between A and B and equidistant from them, how many are there (without counting C) in
front of C in the queue ? _

519208 &) 2.8 &g $°A,B v gwummmm@g D, A, B & e W
Sr8o® CHo8 (CH ©8)0%5%0G°) C $57) wwod BES* Jod Lod é:vgé‘ TG ?

(1) 26 @)= 27 (3) 28 4) 29

A, B, C, D and E sit on a bench in a row such that C sits between D and E; D sits between
A and C while E sits between C and B. Their seating arrangement is
A,B,C,D,E w&é@o&E:D,EwbqﬁsC;A,Cobég D; C, B & ¢g E Hod

ASOTT ErthyT™ . o SR (o

() A-C-D-E-B 2 A-D-
A-E -

B
3) A-D-E-C-B (4) B

C-E-
C-D-
1 2015 1
Ifab#0andaxb=—-1, then ) (—2*1()=
ab =1 \k

2015
ab¢0@§)ér°a*b=i—l, sowd ( l,*k)=
ab k”

k=1

(I) 1008 x2015 (2) 1007 %2015 (3) 1006 x 2015 4 0

: . 1 i 1 409 +4A9
If a@b—w/E+E and aAb = +/ab —E’the“ 409 — 4A9 ~

1 9 1 409 +4A9
a@b—w/%JrE, aAb = /ab — E’ wwd 409 —4A9

1 1
T ) == 3) 18 4) 36
(yes @ - ) -
13 P.T.O.
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SECTION - B
Mathematical Ability
Hfeds el
Questions : 75 Marks : 75
[P%)e0 : 75 e : 75
(i)  Arithmetical Ability (Marks : 35)
©o&ife5s é‘é:ggé (S o0 : 35)
76. Ifm=7'.5%.3% 2% then the greatest integer value of k such that 21¥ divides m is

7474

78.

79;

80.

81.

m=7".52. 3% 2B ewapd m D21k SRHome P NoBey &0a 8B Prgro¥o k Jewd
() 1 @)"2 (3) 4 4) 8

I[fa* =bY=c?# 0 and b? = ac, then the progression in which x, y, z are is
a'=bY=c?# 0 @HHr b2 = ac wand VYD X, Y, Z e OB (3G

(1)  an arithmetic progression (2) ageometric progression
28 ©0¥ 3¢ 2.8 e (3G

(3) aharmonic progression (4) an arithmetico-geometric progression
28 oS (@3 a8 ©o¥ - the B8

Three numbers are in the ratio 1 : 2 : 3 and the sum of the cubes of them is 36. The
smallest number among them is

e Domges 1:2: 3 ANES® Gotwr, o8 Yoarw o 36 esd%ggpa‘lon. FATAON
038 & D K)ospg A

(ry 1 (2) 2 3) .3 4) 4

The earnings of A, B, C are in the ratio 7 : 9 : 12 and their expenditures are in the ratio
8 :9:15. If A saves 25% of his earnings, then the ratio of their savings is
A,B,Coc—sa‘oﬁroa‘&3§7z9:129m@83)&0@3&3§8:9:15.Aé}’a

sarabod® 25% &) FR) a0 Fiye A8

(1) 46:99:59 (2) 56:99:69 3) 69:56:99 (4) 59:46:99
J5+43
If x=—=———= andxy=1thenx+v=
X JE_JEa Yy enx +y
V5+43
X=————— xy=1 o8 rx+vy=
) JE_JS Xy v+y
(I) 6 (2) 7 (3) 8 4) 9
) (a—b)ﬂg—\/g)
Ifazb,a?+b220, tl =
a a 1€Nn (a+b) (,J;+JE)
e (a=b) (Va—b)
#b, a2 +b2#0 eana =
i (a+b) (Ja +vb)
(1) |- 2ab ) |+ 2/ab @) 1+2 /4L @ 1-2te L
a+b a+b a b a b
14
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82.

83.

84.

85.

86.

88.

89.
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The least positive integer m to be added to 3096 so that their sum is divisible by 39 is
3096 & m Q $O1E HT IwFo 39 F R0 erAosadiy m 89 FAYrgroE Dewd

(1 2 (2) 12 3) 24 4) 32

If a number k is of the form 18 m + 7 for some integer m then the remainder when k is
divided by 6 is

2,8 Vowg k 8700 18 m + 7 (m 2.% 3rgro¥0) wawd k D 6 B grrhoSme B Fo
@: s 2) 3 B 2 4 1

The largest number m such that the numbers 947, 639 and 1051 leave the same remainder
when divided by m is

m & 2rAoSm Qogges 947, 639, 1051 e» 2,8 3y ad)wod 0% ogg m
oy 2 2) 4 @)t 7 4) 11

The number of pairs of positive integers a and b such that a + b = 594 and ged (a, b) =27 is
a+b=>594 oHdr KJvee (a, b) =27 ety G0od SRYrgrostw a, b © wde Dogg

() 4 () 5 (3) 6 4 7
Taking =0.16134, the value of ;is
6.198 0.0006198
L _0.16134 1 &0 P — I
6.198 0.0006198 .
(1) 0.016134 (2) 0.16134 (3) 16134 (4) 16134

The rational number r that becomes % when 1 is subtracted from the numerator and
becomes %when 1 is subtracted from the denominator is
8 e¥6diab Lopg r &% o od 1 BxSatm - iy H6o Hod | Sudabr

% SRYE” &08 & Voyg r=

17 15 13 9
1 — 2) — 3)) — 4) —
) 32 2) 26 ) 24 @ 16

. . 8 5 9 7
The descending order of the fractions —,—,—and —is
3 12 11 15
Shada 1907

W —,—,—,— & o585 (X0
@‘3"1 312081 €1 ¢

9 8 95 9 7 8 5 St 80 5. .8 .7 9
(l) R T e (2) T (e Yo e (3) g P g ey e (4) ST o g =t

IR S ) 115151312 12715713711 12131511
VSTT7 7 5. 5=

69 71 74 T
1 — 2) — 3) — 4) —
() 45 @ 45 ) 45 “) 45

15 PRO.
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In a fraction if the numerator is increased by 20% and the denominator is decreased by ,

20% we get new fraction = The sum of the new fraction and the original fraction is

= v -£ 3

28 DY ward) 20% oD, Foed) 20% SAY DV 5 Do = & §°¢ Ao,
oV H)ov o

2 4 : 5 6
) - 2y = g = s =
(1) 2 (2) - (3) - (4) -
If 25% of a number is 25 more than 25% of 500, then the number is
2.8 Vowed® 25%, 500 &° 25% E0B 25 JEYD eod & owg

(1) 500 (2) 550 (3) 600 (4) 650

By selling an item for ¥ 189, a trader gets a profit of 12)4 %. The cost price (in rupees) of
the item is

28 DY &, 189 8 o8 2.8 HIHIZ 12% % wrgfo BDod. @ DY FHIv
(ErarabS®)
(1) 148 (2) 158 (3) 168 (4) 178

The cost price of an item is ¥ 250. Its marked price is ¥ 360. The maximum possible
discount that can be given so that a profit of 20% is made is

2.8 DY) SR)Sw 8. 250. o (WEGE So &r. 360. GPA 20% GrLI0 D, ©@ DWYD
BYEDD wdeHE andor
(1) %30 (2) %40 (3) TS50 (4) 060

In a partnership, A invests % of the capital for i— of the time; B invests %of the capital

for %of the time while C invests the rest of the capital for the whole time. The share of A

(in thousands of rupees) in the profit of ¥ 2.28 lakhs is
2. wﬁé*s‘éago@’s, N anéo o l Sodi l o Liapodéy B Endo

'&)é.»a)&o é DO éﬁ’m D0 Vanahoarty &odm wAdR o.Jdma)&ID Ces a*g@vd

coé.oﬁ)‘c’mow GO0, @a)’o e, 2.28 o§c; A ¢ (Bo ErarabS®)
(1) 26 (2) 24 @)y 22 4 20

In a joint business, A invests I 20,000 for six months while B invested certain amount for
the whole year. In the year—end profit of ¥ 9,000 the share of A is ¥ 6,000. The amount (in
rupees) invested by B is

a8 GG TgFBo’, A e Sveartn &r. 20,000 %Jc‘ma.)c‘% G OB, B &9 1&0ard

coofbé‘bdo ME0 GowE. @o‘ééQo‘oé erjo &oe. 9000 56 A aeer S 6000 S
a*g@vdoo B éo2é (dr@‘o:i)g )
(1) 8,000 (2) 6,000 (3) 5,000 (4) 4,000

16
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96.

97.

98.

99.

100.

101.

Pipes A, B, C can fill a tank individually in 2 hours, 3 hours and 4 hours respectively. All
the three are opened for 15 minutes and pipe C is closed. The time (in minutes) required
further to fill the tank is

Dodyen A, B, C e 2.8 &8 S50 2 Koves, 3 dodes, 4 Kobes® Jovtuy). &
Q&0 15 Moty ), & $o7gd C O LrFTd. @ & Jokerds STHUIR
g0s° Vabo (award’)

(1) 48 (2) 52 (3) 54 4) 70

Pipes A and B can fill a tank in 9 minutes and 12 minutes respectively. A is opened and
after sometime B is opened; and the tank is full in 4 minutes. The time difference (in
minutes) between the opening of A and B is

Boes A, B & 28 & D 9 Jwares, 12 wrd® Wb KoY. A D ko Fod
WoasR3 B NS © B4 Dward® Jogod. A, B U Boye ke DS B (ward))
(1 4 @2)=3 3) 2 4) 1~

Three trains A, B and C moving at speeds s,, s, and s respectively take times t, t, and t;

respectively to cover a distance of x kms. Ift, ity :t3=20:15: 12, thens; i 8, :8;=.....

SEOT= $15895 83 3mo§‘ S&F 3¢ A B, Ceox 3., &rocd) Greirdd ‘cbéé Lbabe
BEO ), bty b ity it =20 15:12 OB §; 185553 = oouns
- 2:3:4 2) 3:4:5 (3) 4:5:6 (4) 5:6:7

The time (in seconds) taken by a train of 240 metres long travelling at 70 kmph to cross
another train of length 110 metres standing on a parallel track is

240 ﬁ))éoé Q‘CS‘@‘&; %8 e Koo 70 8.0, K& D, VErosd ‘&)%7"02.3 Dwxﬁa}s‘)‘
110 g))éag, ) e S8 ea_u}’m 8o ‘é)ég Vawoho (?oé‘{mgs)

(1) 20 2) 18 3) 17 4) 16

10 men and 15 women can complete a work in 6 days; and 12 men and 27 women can

complete the same work in 4 days. The number of days required for 2 men and 12 women
to complete the same work is

2% 52D 10 208 RS, 15 od e EOV 6 et Yyrg Db ©F VI 12
208 PYBkwes, 27 od e SOV 4 e ® Y0 Bobried. © VI agd R)aveD,
12 908 &yen O 0 Dabers H8 Sere Dowg

) -0 ()
(1 8 2) 9 (3) 10 4 12
A and B can do a work in 8 hours; B and C can complete the same work in 6 hours while C and

A require 12 hours to complete that work. The time required by C alone to complete that work is
AL B e 2% L0 8 iobe® Wrd Badries: B, C e o8 BN 6 Hodrg” 0 Bodrietd; C, A

o & DD YD D& 12 Hotes 57ar®. 8 AN C 28,8 {rg Baherds BB Wnabo

(1) 16 hours (2) 9 hours 36 minutes
_ 16 Sodren 9 Ko&e 36 Jawared
(3) 48 hours (4) 10 hours 30 minutes
48 foden 10 Koke 30 Qawared
17 P.T.O.
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The area of a square S is equal to the area of the rectangle of sides 56 metres and 14
metres. The length (in metres) of diagonal of S is

28 B[00 S SFeG0; 56 D&, 14 ﬁbdog.) ghezreor e 2, &g BHSH STeredd
VErdo. OV S Ay DEZo PP (f))bgc?‘)

(1) 42 (2) 282 (3) 1442 4 1242
The area of a rhombus is 144 Square units. If one of its diagonals is 18 units then the

length of the other diagonal (in units) is

28 O Ihdhye STeg0 144 S8y Ahrddy. @ 2.8 DEEY) KD 18 olﬁrbgé‘,
Bo&* DELD) ek (AR &?)

(1) 9 [ ) (3) 14 4) 16

A brick measures 20 ¢ms X 10 cms X 7.5 cms. The number of bricks required to build a
wall of dimensions 25 m x 2mx0.75mis

28 2en¥ HOErH0 20 0.5, x 10 0.ab. X 7.5 0.8, 25 & x 2 D X 0.75 & %Hodremo
de 5% DU I8 STHeIH advEe Dogg
(1) 24000 (2) 25000 (3) 26000 (4) 27000

A rectangular plot R of perimeter 46 metres has area 120 square metres. The area of the
square whose side is equal to the diagonal of R, is
W Fod 46 Do Ko o B SHSDse5Y) Pv0 R S7ego 120 $.es. R

EGORH VEPEIH herd) €O SES Yy Swego

(1) 361 sq. m (3.2, (2) 289sq.m (5.8,

(3) 225sq.m (35.20.) (4) 169 sq. m (5.8,

A wheel makes 50 revolutions in covering a distance of 440 metres. The radius (in metres) of the wheel is
440 i))cbgb TOErI8 2.8 (%o 50 [FDeres BJ0s. o B(EY) W?g@‘(cgo (i))eagé")

(1) 4.2 2) 2.8 3) 14 4) 0.7

The ratio of the curved surface area to the total surface area of a right circular cylinderis 1 : 2. If
its total surface area is 616 §q. cms., then the volume of the cylinder (in cubic cms) is

28 Jyers 8 TR HESe ST°eg0, oS ST NS 1:2. ) oSy
ST°UL0 616 $.0.8). and e TR SVRIOETE0 (4. 0.0.05%

(1) 1120 (2) 1080 (3) 1078 (4) 1000

Ifx>0and |1 —3x|>4 —x, then
¥>0,]1-3x|>4 -y wopd SRS

(1) ,\‘>§ (2) x>§ 3) x>§ 4) .\'>§

(1100101)2—(1011011)2=

(D (1010), 2) (1100), (3) (1001), 4) (1101),
18
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(ii) Algebraic and Geometrical Ability (Marks : 30)

Hdak, wg&):éo)’o FHoged (B e0 : 30)
111. For statements p and q, the tautology among the following is

112.

113.

114.

118.

116.

117.

118.

(D5STen p, q 0% 808 FIS® IS HELINO
(1 @evaeg—-p 2 PEArg9—=>p B ~pParg9—->p @ ~pPvy-—-p

If p and q are statements, then the inverse of p — q is

p 20k q e [PHSTreE, p — q 8 DS
(1} a=>p (2) ~d =D ()2 e | 4 ~p—q

1 oo
lflk={xe IR:0<.\'<E} fork=1,2,3,.....then []I, =
k=1

l o
k=1,2, 3, L8 oéolk={.\-elR:0<.\-<'l€}c-90»3 .=
k=1

(1) {0} (2) ¢ 3) {1} 4 {xeR:0<x<1}

For sets A, Band C, A — (BUC) =
Vvehen A, B, C o A - (BUC)=
(1) (A-B)U(A-0) (2) (AuB)-C
3) (A-B)n(A-0) 4 AuB-0)

Iff:R— Rand g : R — R are defined by f(x) = 2 and g(x) = x° for each x € R, then
{x e R: (fog) (x) = (gof) (x)} =

f:ROR g:R>R oD @B xeR S8 flx) = 27, gv) = x* oo IO e&dpid
{x € R: (fog) (x) = (gof) (v)} =

(1 R 2 ¢ (3) {0,2} 4) 10}

The length of the line segment intercepted between the axes by the line joining (6, —4) and
(_37 8) is -
(6,—4), (-3, 8) && O VB T A ws5reS PoGoWBVE TP POER) DG

(1 3 (2) 4 3 5 4) 6

The angle between the lines 2x + 3y=5and 2(x —1) +3(2+y)=061s

VESTPen 2x+3y=5,2(x —1) + 32 +y) =6 & g &0

(1) o° (2) 45° (3) 60° (4) 90°
2tan30° _

1+ tan” 30°

(1) 3 @) —‘é 3) -3 4) —g

19 P.T.O.
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119 sin45°+ cos45° + tan 45°
" | sin 45°—c0s45° - tan 45°

2

(1) %(2+\/5) @) %(2—\/5) 3) 3+242 4) 6+ 42

120. l—c059+ sinf

sin 6 1-cosf ’ .
(1) 2sin@ (2) 2cosB (3) 2secO (4) 2cosecH

121. In AABC, ZABC = 45;’, ZCAB = 30° and CD is perpendicular to AB. If CD = 100, then
AB = '
AABC &° ZABC = 45°, ZCAB =30°, AB & CD e02)0. CD = 100 ®on& AB =

M 10003+1) @ 10043-1) 3) s0(v3 +1) @ s0(3-1)

122. If 7+ 10x ~ 5x° has maximum at x = o, & R, then o, =
7+10.\‘—5x2§x=aelR6€°$(15‘Qo Go8 o=
(1) 0 (2) 1 (3) 2 4 3

123. The progression in which the roots of the equation 63 — 1132+ 6x — 1 =0 lie is
NavESe0 633 — 11a2+ 6x—1 =0 D) Wreren $08 [#Fe

(1) an arithmetic progression (2) a geometric progression
©0¥[ES e (RG

(3)  aharmonic progression (4) aarithmetico-geometric progression
oS ¥EG ®o¥ - HeES

124. The quadratic expression that leaves remainders 1, 2 and 4 respectively when divided By
(x=1), (x—2) and (x - 3) is
(0 =1), (* = 2), (x - 3) ©&° grAoSm SEOM 1, 2, 4 Fen 23) 8 Vo
(1) %(x2 +x+1) () %(xz —x+1) (3) ~(2+x+2) @ %(.\-2 —x+2)
125. If p(x) is a polynomial divisible by (x — 5), then a factor of p(x3-3)is
2.8 257008 p(x) D (x - 5) SFHkom AR 0P p(x3 - 3) & € soBero¥o
(1) x+2 @) x#1 3) x-1 4 x-2

126 i SO SRRl ot &, y) =
TS By
Xy 6 xy
x+y 5’ x—-y :
(D (2,3) @ G,2) @ 1,2 @ @0
20

=6 8 (x,y) =
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127.

128.

129.

130.

131:

132.

133;

134.

The number of solutions of the systemx — y+z=—-6,x+y—-z=3, — x+ Y — Z=6is
&s&‘é)x —Ytz=-6,x+ty-2z=3,—x+y—-2z=68 e é‘ééb‘bospg
(1) o 2) 1 3) 3 (4) Infinite/&No&0

The sum of all the natural numbers between 1 and 100 which are divisible by 7 is
73 NR%0m erfodehdr, 1908 100555 &od Vires Vowge o

(1) 735 (2) 730 3) 725 (4) 715
k:ﬂ 3k+|—

9.
1 o @) % ¢ 2 @ 1

6
If the fourth term in the binomial expansion of (2“' x4 L,) is 160, then x =
P

6
(2"'.3-2 +L2J B3 ABeacs® TPURD B0 160 @ x =
.

(1 3 2) -8 3) 1 @ =1

8
The middle term in the expansion of (xz —l) is
=

8
(xz -lj Do Ssginso
X

(1) -56x 2 -70° 3) 70x* 4) -56x*
I 22

A=12 1 2|=>A2-4A=
2ub2

@21 (2) 31 (3) 4l 4) sI

Ifdet A =35 for a3 x 3 matrix A, then det (5A) =
28 3X3 B8 A8 det A=5wand det (5A) =

(1 5 2) 5° 3) 5? 4 5
lim x-3 _
¥ =9 —Ja—x
(H 0 2 1 3) 2 4) 4
21 P.T.O.
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. -3
l—sin" x _
- - 2 -
X = cos” x

~~

—

S’
I

@) I 3) % @ -1

In AABC, ZBAC=90°, AD1BC, AD =6 cm and BD =4 ¢cm. Then DC =
AABC &° ZBAC=90°, AD1BC, AD = 6 00.20., BD = 4 20.3. &%y DC =

(1) 4 cm (20.2).) (2) 6cm (V0.
3) 9cm (?oo.gl).) (4) \/52_ cm (0.40.)

The vertices A, B, C, D in that order of a quadrilateral lie of a circle. Then ZABC +
ZADC =

2.¥ zﬁé)d)?)a @g‘u A,B,C,D & ad ($20o¢’ .8 H)gon aomaw. eypdh LABC +
ZADC =
(1) 90° (2) 120° (3) 1358 (4) 180°

If a square is inscribed in a circle of radius 1’ 2(115 then area of the square is

200 argrgo o D)o’ . B[00 ©oSPEDE & IHER STego
2 Ve == S E

(1) 2014 (2) 2015 (3) 2016 4) 2017

For AABC with vertices A(4, 2), B(6, 5) and C(1, 4) the length of the median through A is
A(4,2), B(6, 5), C(1, 4) & 3greor™ o AABC 8 A hoae 6D igis Ty P&

(1 4 @ V5 ) 3B @ =

If A (k,-3), B (2,-5) and C (-1, —8) lie on a line, then AB : BC =
A (k,-3), B (2,-5), C (-1, —8) e 2.8 V8 33}):&3 &o& AB:BC =

(1) 2:3 @) J2:43 () 24/2:343 4) 4:9

22
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(iii) Statistical Ability (Marks : 10)

0 $ETR9 SEN] 153 (B’)J‘dsa_w : 10)
141. The arithmetic mean of the distribution given below is '

142.

143.

144.

145.

146.

$0d8 30O DIeve) wo¥ WEFO

X 1 2 3 4 5 6 7
f 1 4 9 16 |25 |36 |49
(1) 3.8 (2) 49
@) -5 4) 5.6

The median of the first sixteen even natural numbers is
RESE 25D DOV Yuoqago béﬁgﬁéo

(1) 23 Q)i
3) 19 . 4 17

Forn>1, let a, = k where k is the remainder when n is divided by 5. Then the mode of
the observations a,, a3, g, Ay, a3, Ay, 8y IS

n>18a=k&* nd5F erAoSm DV Fo k es&os, CRON

a1, 8y, g, ), Ay, )y, 2, © POVFE0

(1) 1 @)k i2
3 3 4 4

The standard deviation of 1,2,3,...,25is
1,2,3,....25 ¢ (B ASewdo

(1) 132 @) 2.i3

(3) 52 4 26

If 62 is the variance of Xi> Xp.eooy X, then 967 is the variance of

Yy Xppeey X, © RS 67 w0 907 AYBM™ e 2.8 Derasdo
(1) 4 -3x,4-3x,,...,4 -3x,

(2) 4+9x,4+09x,,.... 4+ Ox,

B) 4-9x,4-9x,...4 =05

(4) 4+8lx, 4+ 8lx,,...,4+ 81x,

The correlation coefficient r satisfies the inequality
VS D000 Do r S0 e D&rdHeS

(). oilim) =1 (2 |r|<1
Elplzl=1 4 -2<r<2

23 P.T.O.
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147. A ball is drawn at random from a bag containing 5 green, 6 black and 7 white balls, all of

148.

149.

identical size. The probability that the chosen ball is either green or black is

2.8 e o S c—sﬁaoJiSQD 6 ‘{ao&') 7 8w (50&@&; 20eHe VoW oW oﬁrégi)oéom
2.8 208 SFH. 9 sHDBND 57, D 57 @0‘55 DogriHgd

6 13
1 — () ==
ST @ 15
2 11
Dy 4y =
3) 3 (4) T
Three numbers are chosen at random from the set {1, 2, 3, ..., 8}. The probability that

they are consecutive numbers is

VDS {1, 2, 3, ..., 8} Wo& afrSydyEorr dweh Dopges JodE T, @ HHD
Dopgedhy Vogrhgs

9 %
1 - 7 W
@ 28 @ 28
5 3
3) — A==
©) 28 @ 28
The probability that a number chosen at random from {1, 2, 3. 4. ..., 14} is a prime

number solution of the equation f(x) = 0 where f(x) = (x —2) (3> - 9) (x - 6) (x — 8) is

{1,2,3,4, ..., 14} oD afreSyyEom JodE TS Logg VbEdmo flx) =0 8 (Neeo

Logg FED @o’&s ogragd, 20S® flx) = (x=2) (2 =9) (x—6) (x—8).

5 3
= 2 —_
) 14 @ 14
2 1
= 4y —
© 14 , & 14

. If A and B are events such that P(A) = o, P(B) = B and P(ANB) =y, then P(A UB)=

3p&de A, B e P(A) = o, P(B) = B, P(ANB) = Y @abgtnod eypth P(AUB)=

(1) 1-(a+p+y) 2) 1-a-§
3) 1-—-o-—y @)+ 1L=ory
24
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SECTION - C
Communication Ability
Questions : 50 Marks : 50
PART -1

Choose the correct meaning of the word given :

151. Timbre

(I) wood (2) music

(3) tonal quality (4) accent
152. Caveat

(1) warning (2) certain

(3) indecisive (4) careful

153. Conundrum
(1) symbol (2) problem
(3) deception (4) amusical instrument

154. Indubitably

(1) certainly (2) doubtfully

(3) deceitfully (4) objectively
155. Expedient

(1) expendable ' (2) advisable

(3) extravagant (4) excellent

156. Proscribe
(I) encourage (2) prescribe
(3) forbid (4) enforce

Fill in the blank choosing the correct word :

157. Due to the unseasonal rains, agricultural produce for the current year remained

(1)  minimal (2) maximum
(3) least (4) more
158. The beauty of the flowers at the Mughal Garden in Delhi left the visitors
(1) spellbound (2) happily
(3) miserable (4) uncomfortable

159. The bus suddenly to avoid an accident with a speeding motorist.

(1) changed (2) swerved
(3) moved (4) collided
160. The climate helped him regain his health.
(1)  succulent (2) salubrious
(3) sturdy (4) scintillating ,
25 P.T.O.
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PART -2
Choose the correct answer :

One of the most common network setups where each of the devices and computers on a
network connect to a central hub is called

(1) Mesh Topology (2) Tree Topology

(3) Star Topology (4) Hybrid Topology

A non-volatile computer storage that can be electrically erased and reprogrammed is
called

(1) Cache Memory (2) Flash Memory

- (3) Random Access Memory (4) Read Only Memory
A special text file that a web server places on a visitor’s computer is called
(1) Cookie (2) Cookie-management utility
(3) Context menu (4) Copy command

‘MICR’ stands for

(1) Magnetic Index Character Recognition
(2) Magnetic Ink Character Recognition
(3) Maximum Ink Character Recognition
(4) Minimum Ink Character Recognition

A system configuration in which two or more computers in a network share applications,
storage and processing power is called

(1) distributed computing (2) distributed application

(3) distributed service (4) distributed denial of service
A summary of the aims and values of an organization is called

(1) missive (2) mission statement

(3) memo (4) circular

A type of decision making which generally involves a group of high-level managers who
deal with very complex, largely unstructured and non-routine problems which affect the
general direction of the organization is called

(1) strategic decision making (2) management control decisions

(3) operational control decisions (4) market intelligence

A marketing strategy that includes high price and high promotional cost while launching a
new product is called

(1) Slow Skimming Strategy (2) Rapid Penetration Strategy

(3) Rapid Skimming Strategy (4) Slow Penetration Strategy

Who, among the following, is deemed to be the founder of Scientific Management ?
(1) Louis Denbitz Brandies (2) O. Sheldon

(3) Peter Drucker (4) Frederick W. Taylor

M.B.O. stands for

(1) Management By Objections (2) Management By Objectives

(3) Management By Organizations  (4) Management Business Objectives

26
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171.

172.

173.

174.

EilS.

176.

177.

PART -3
Choose the correct answer :
A:  “Can you buy souvenirs at the market 2”
B: “You can, but you may be cheated.”
‘B’ implies
(1) itis advisable (2) itis unadvisable
(3) ‘A’ has to take a chance (4) the souvenirs may not be available

A: “Why doesn’t she see through him ?”

B: “Why, what do you expect to happen ?”
In this conversation, ‘B’ is

(1) concerned

(2) indifferent

(3) feels that A’s concern is unjustified

(4) makes light of A’s concern

A: “Why don’t you cook the dinner today ?”
B: “I wish you’d let me be.”
‘B’ implies
(1) heis willing (2) he wants to be left alone
(3) he cannot cook (4) he may cook later

A1 “They are talking ill of me, although they are not ignorant of my merit and hard work.”
B: “Beit so, dogs bark while the caravan passes on. ”
‘B’ means that
(1) it is natural for dogs to bark
(2) one should take into account popular gossip
(3)  popular gossip is the foundation of true Jjudgement
(4) one should not bother about popular gossip

Change the following into passive voice :

All desire wealth and some acquire it.

(1) Wealth is desired by all and it is acquired by some.
(2)  Wealth is desired by all and some have acquired it.
(3) Some have acquired wealth.

(4) Some desire wealth, and all acquire it.

A: “Why don’t you save some money from your salary every month ?
It will help you in the long run.” -
B:  “It’s rather hard in the circumstances.
I can barely make ends meet.”
‘B’ implies that his salary is
(1) enough (2) not enough
(3) just enough (4) more than enough

He cleared out without paying the rent.
The underlined phrase means

(1) went away (2) cleaned the room
(3) stayed inside (4) clearcd his way
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Fill in the blanks with the appropriate phrase/verb/preposition :

Cut a piece the bread.

(1) of (2) off

(3) on (4) in

The level of inflation has increased 40%.
(1) beyond

(2) within

(3) below

(4) behind

He pushed his way the crowd.

(1) across (2) through
(3) by (4) up

The sea has all round the coast.

(1) surrounded (2) swept
(3) encroached (4) flooded

He was with immense physical strength.
(1) endowed :

(2) given

(3) filled

(4) enfeebled

To criminal behaviour is to encourage social ills.

(1) condone (2) condemn

(3) crush (4) quell

Please the proposal and let me know what you think.

(1) look for

(2) look through
(3) look on

(4) look down

[ find it very hard to his lectures.
(1) takeon (2) takein
(3) takeup (4) take after
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PART -4
Read the following passage and answer questions 186-190.

Computers have brought a revolution in human life. To begin with, computers took over
different human activities. Now even thinking and problem-solving are being done by
computers. This has culminated into automation of offices and manufacturing processes
resulting in drastic reduction of manpower in administration, business and industry. So
much is the human reliance on computers that they are being used on a large scale even in
fields like music, sculpture and architecture. The growing use of computers in teaching
might one day render teachers, classrooms and libraries redundant. This situation makes
many of us believe that computers are likely to replace human beings in every walk of life.
But every coin has two sides. However usefil they may be, computers cannot replace
human beings. A compliment by an elderly person restores the confidence of a depressed
person. A simple touch of a mother silences a crying baby. Can a computer perform these
and many such other miracles ? Now-a-days, teaching is being done by computers.
Computer lovers claim that they can learn everything with the help of a computer. But
imagine the difference between the two situations, i.e.; sitting before a computer and sitting
in a classroom with dozens of students around and in the presence of a teachers. The pains
and pleasures of companionship, the repudiating as well as encouraging expressions on the
teacher’s face, the direct interaction, and abundant sharing and understanding, set this living
situation a world apart from the lonely, computer controlled suffocating room.

How have computers brought about a revolution in human life ?
(1)  They are sophisticated machines

(2)  They have taken over every aspect of human life.

(3) They provide information

(4) They are user-friendly

What is the meaning of ‘automation of offices and manufacturing processes’ ?
(1)  Replacing manual labour with automatic equipment

(2) To become automatic

(3) To become remote controlled

(4) To work faster

What makes one believe that computers will one day replace human beings ?
(1) Computers will replace teachers

(2) Increasing human dependence on computers

(3) Computers will replace libraries

(4) Computers will replace classrooms

Why cannot computers replace human beings ?
(1) Computers have to be bought

(2) Human beings are not machines
(3)  Computers are expensive

(4) Computers are difficult to handle

What does a ‘lonely, computer-controlled suffocating room’ imply ?
(1) Lack of air

(2) Lack of friends

(3) A stifling cheerless world of scientific technology

(4)  Computers controlling human life
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Read the following passage and answer questions 191-195 :

How many times have you asked, “Why did he do that ? Why did she say that ? Why does
nothing ever work out for me ? Why didn’t 1 get what I wanted ? Why does this keep
happening in my life ?” “Whyology™ is the obsessive need to know why things happen as
they do, which results in emotional paralysis, keeping you stuck. Why do you need to
know why things happen ? If you did know, would it make that much difference ? Many
people will say, “Yes, it would make a difference, because then I would be able to move
on an: let go.” The truth is that the letting-go experience has nothing to do with knowing
why waings happen as they do. Infact the more you need to know why. the less likely you
are to let go and more on. Unless you release this cycle, you will be robbed of your ability
to appreciate and enjoy the moment you are living in right now. Think of all the energy
that you could use to create in life if you left the practice of keeping vigil on tombstones.
Internal stress comes when you resist what is in life. When you release your need to know
why, an amazing thing starts to happen. You begin to connect with your inner creativity,
which helps you find creative solutions to your situation.

191. What is ‘Whyology’ ?
(1) Itis a philosophy of life.
(2) It the compulsive need to know the reason behind an act.
(3) Itisa branch of literature.
(4) Itis a scientific approach to life.

192. What does ‘Whyology’ lead to ?
(1) Happiness (2) Success
(3) A positive attitude (4) Emotional stagnation

193. What happens when this cycle of ‘whyology’ is released ?
(1) Appreciation and enjoyment of life follows
(2) Negative thoughts enter one’s mind
(3). One becomes critical
(4) Lifeis filled with unhappy moments

194. What does the ‘practice of keeping vigil to tombstones’ mean ?
(1) Going to the cemetery
(2) Keeping a watch on tombstones
(3) Brooding over the past
(4) Worrying over the future

195. When does ‘internal stress’ occur ?
(1) When one is creative
(2) When one does not accept what is in life
(3) When one accepts what is in life
(4) When one helps others
30
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Read the following passage and answer questions 196-200 :

Tea has always been an integral part of our beverage culture. Its origins are the stuff of
legend. A Chinese story says that when an Emperor was purifying water in the shelter of a
tea tree, some leaves fell into the pot. The liquid that emerged after boiling was of a
wonderful fragrance, colour and taste, and the first tea to be brewed. In India, we are told
of a Prince, who left his homeland to preach Buddhism and decided not to sleep during his
nine-year mission. At the end of his third year, overtaken by exhaustion, he chewed a few
leaves of a tea shrub, which apparently enabled him to stay awake for the remaining six
years. Over the years, tea drinking was refined into an art and indeed has even been
elevated into an elaborate, almost sacred rite as in the Japanese tea ceremony. But if there
was one culture that adopted tea drinking and made it an iconic ritual and time of day in
itself, it was the English.

196. What does the origin of tea drinking suggest ?
(1) It was fashionable
(2) It was sublime
(3) It was traditional
(4) It was suspicious

197. According to legend, how were the first tea leaves discovered ?
(1) By accident
(2) By experimentation
(3) By official order
(4) By simple practices

198. What did tea drinking gradually become a form of ?
(1) Healthy living
(2) Habit formation
(3) Sacred ritual
(4) Polite behaviour

199. Who first related tea drinking to “the time of day” ?
(1) The Indians (2) The English
(3) The Japanese (4) The Chinese

200. Which of the following is not mentioned in the passage ?
(1) Fragrance of tea
(2) Origin of tea
(3) Typesoftea
(4) Social etiquette and tea
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